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Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGG.- III"" SEMESTER-EXAMINATION - MAY/JUNE- 2012

Subject code: 335905 Date: 30/05/2012
Subject Name: Fabric Design -11

Time: 02:30 pm - 05:00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic

Explain the concept and types of Figuring with extra threads. Draw design & C/S
for following.

Ground weave : Plain (1/1)

Figure : Spot or Free hand

Figuring threads : Warp or Weft

Ratio--G: F-- 1:1

Draw design and cross section for the following.
(a) Warp Backed Cloth (3/4 twill)
(b) Warp backed Weft wadded cloth ( 4/4 warp way twill)
Ratio--F:B--1:1,F: W --1:1
OR
(b)  Weft backed cloth (5/2 twill)

What is Double Cloth? Explain in detail about different types of Double cloth with
its structure.

OR
Which are the types of Self stitched double cloth? Draw design and cross section
for any one type using 4/3 weave and F:B =1:1.

Write short note on Gauze Leno structure? Explain Top and Bottom Douping
principle with example.
OR
Draw design and cross section for the Following.
(a)  All over or Plain back velveteen
(b)  Plain face Bed ford cord

Explain the construction of Terry Pile Structure. Draw design and cross section for
3 pick and 5 pick Terry weaves.

OR
Which are the types of Center stitched double cloth? Draw design and cross section
for any one type using suitable example.
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